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Parte A: Matematica e Logica
1. Ordinare in modo crescente i seguenti numeri:

√
2

2
;

π

4
;

√
3

3

(a) π
4 <

√
3
3 <

√
2
2 (b)

√
2
2 <

√
3
3 < π

4 (c)
√
3
3 <

√
2
2 < π

4 (d)
√
2
2 < π

4 <
√
3
3

2.
1

2
ln
e

3
=

(a) 1− ln6 (b) 1−ln32 (c)
√
1− ln3 (d)

√
e
3

3. Completare la sequenza scegliendo un numero al posto dei puntini:

98; 50; 26; ...; 8; 5
(a) 13 (b) 12 (c) 14 (d) 17

4. La frazione
2x − 2
x2 − 2x

è identicamente uguale a. . .
(a) 2x −

x
x−2 (b) 2x−2x2 −

x−1
x ; (c) 2x −

1
x (d) 1

x−2 +
1
x

5. La soluzione della disequazione
|x + 3| < 5

è. . .
(a) (−∞, 2) (b) (−2, 8) (c) (0,+∞) (d) (−8, 2)

6. Completare la sequenza:

?

(a) (b) (c) (d)

7. Per quali valori del parametro reale a l’equazione

2x2 − 3x − a = 0

non ammette soluzioni reali?

(a) a < − 98 (b) a < 0 (c) a < 3
2 (d) a > 9

8

8. Determinare l’equazione della retta passante per i punti P (1, 2) e Q(−1, 0).
(a) y = −x + 1 (b) y = x + 1 (c) y = −x − 1 (d) y = x − 1

9. Siano A e B due insiemi non vuoti e sia A ⊂ B. Allora. . .
(a) x /∈ A =⇒ x /∈ B (b) x ∈ B =⇒ x ∈ A (c) x ∈ A =⇒ x /∈ B (d) x /∈ B =⇒ x /∈ A

10. Completare la proporzione

: = : ?

(a) (b) (c) (d)
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11. La parabola con vertice sulla retta y = x + 3 è. . .
(a) y = x2 + 2x + 3 (b) y = x2 − 4x + 3 (c) y = x2 − 2x + 3 (d) y = x2 + 4x + 3

12. La distanza del punto (1, 2) dalla retta di equazione y = −x è. . .
(a) 32

√
2 (b) 1 (c)

√
5 (d) 3

13. La soluzione della disequazione
2x − 8 > 0

è. . .
(a) x > 8 (b) x > 2 (c) x > 3 (d) x > 0

14. Quale delle seguenti equazioni corrisponde a una circonferenza con centro C(−1, 2) e raggio
√
5?

(a) x2 + y2 + x − 2y +
√
5 = 0 (b) x2 + y2 − 5 = 0 (c) x2 + y2 − 2x + 4y − 5 = 0 (d) x2 + y2 + 2x − 4y = 0

15. Quanti triangoli si possono individuare nella seguente figura?

(a) 17 (b) 16 (c) 23 (d) 27

16. Un gruppo di amici composto da Luca, Roberto, Mario, Paolo, Carlo e Silvio deve organizzare un torneo di
tennis la prossima settimana. Il campo è libero solo lunedì, martedì e mercoledì sera e si può disputare una
sola partita al giorno. Sappiamo che Roberto e Silvio non vogliono incontrarsi, Paolo è impegnato il lunedì
sera, Carlo è disponibile solo il mercoledì sera e Mario e Luca giocano solo tra loro. Quale persona gioca
sicuramente martedì sera?
(a) Paolo (b) Luca (c) Roberto (d) Silvio

17. Quale dei seguenti sistemi è impossibile?

(a)
{
x − 1 ≤ 3
1− x > −2 (b)

{
x + 3 > 2

x + 2 ≤ −2 (c)
{
x + 2 > 3

5− x ≥ 1 (d)
{
x + 2 ≤ 5
3− x < 2

18. La soluzione della disequazione
x2 + 1

x − 3 ≥ 0

è. . .
(a) x ≤ −1, x > 3 (b) x > 3 (c) −1 ≤ x < 3 (d) x ≥ −1

19. Il polinomio

x6 − 7x3 − 8

è identicamente uguale a. . .
(a)

(
x3 − 1

) (
x3 + 8

)
(b) (x + 1) (x − 8)2 (c)

(
x3 + 1

) (
x3 − 8

)
(d) (x + 1)3 (x − 8)3

20.
23a−1

32−a
=

(a) 83
(
3
2

)a (b) 89
(
2
3

)a (c) (24)
a

18 (d) 1
18

(
8
3

)a
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Parte B: Inglese
1. He wouldn’t be so successful now if he so hard when he was at school.

(a) didn’t study (b) wouldn’t have studied (c) hadn’t studied (d) hasn’t studied

2. There wasn’t in the garden.
(a) some people (b) any people (c) anybody (d) no persons

3. “I’m going to the theatre tonight.” “So .”
(a) do I (b) will I (c) I will (d) am I

4. I didn’t see any animals. I don’t think in that park.
(a) they were any (b) there were any ones (c) they were any ones (d) there were any

5. When give her this book.
(a) Allison will arrive (b) is Allison arriving (c) Allison arrive (d) Allison arrives

6. Pat and Jane are her.
(a) as clever as (b) clever that (c) clever than (d) so clever as

7. This question is difficult for me.
(a) so much (b) too (c) too much (d) enough

8. They weren’t surprised and nor I.
(a) weren’t (b) wasn’t (c) were (d) was

9. Send him to the baker’s the bread.
(a) for buying (b) to buy (c) in order he buys (d) for to buy

10. Where on Saturdays?
(a) do go John (b) John goes (c) does John go (d) John does go

11. This house is so old now. When it rains, the windows leak and the roof needs to be replaced. , we
love it and would never move to another.
(a) Nevertheless (b) Although (c) Though (d) Despite

12. John said he a great time at the party in New York.
(a) had (b) ’d had (c) ’d have (d) ’s had

13. This is an old photograph of me when I .
(a) have short hairs (b) had short hairs (c) have short hair (d) had short hair

14. I daren’t to upset her.
(a) do anything (b) to do something (c) do nothing (d) to do a thing

15. Hello, Janice! Tell me what here today.
(a) do you do (b) you do (c) you’re doing (d) takes you

16. He has friends in Canada.
(a) a (b) any (c) some (d) the

17. It often snows January.
(a) in (b) for (c) at (d) on

18. You won’t forget to email those files, ?
(a) can you (b) won’t you (c) will you (d) do you

19. Where you when Neil Armstrong set foot on the moon?
(a) have been (b) are (c) been (d) were

20. Listen to sister!
(a) she and she’s (b) her and her (c) her and she (d) she and her

21. that lovely new bag?
(a) Who did you give (b) Who did give (c) Who gave you (d) Who you gave
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22. The man in the corner is my boss.
(a) whose (b) sitting (c) is sitting (d) sits

23. Mont Blanc, we visited last summer, is the highest mountain in Europe.
(a) which (b) where (c) what (d) that

24. Tom is Mrs Black’s son.
(a) She is his daughter (b) He is her son (c) She is her son (d) He is his son

25. Yesterday John the bus.

(a) waited for ten minutes
(b) was expecting ten minutes
(c) expected for ten minutes
(d) waited ten minutes for

26. John is .
(a) a friend of mine (b) one friend of mine (c) a friend mine (d) a friend of me

27. We’ve been colleagues for ages. I him since I first moved to London.
(a) have known (b) am knowing (c) knew (d) know

28. of them knew about the plan because it was secret.
(a) Some (b) None (c) No one (d) Any

29. My bicycle was stolen so Jane lent me .
(a) her (b) his (c) hers (d) their

30. these girls do you know?
(a) Which of (b) Who are (c) What of (d) How many

31. How’s the baby?
(a) He’s Allison’s (b) She’s very well (c) That’s the baby (d) She’s a girl

32. We had hard time trying to persuade him that we gave up.
(a) such a (b) a so (c) such (d) so

33. She’s been very kind, ?
(a) doesn’t she (b) hasn’t she (c) wasn’t she (d) isn’t she

34. Your letter .
(a) has arrived two days ago (b) arrived two days ago (c) arrived since two days (d) has arrived since two days

35. He lives in the house where he was born.
(a) ever (b) already (c) yet (d) still

36. they argued, the more difficult it became.
(a) The most (b) For how much (c) How much (d) The more

37. We are going to the theatre tomorrow it is too late to book tickets.
(a) when (b) if (c) unless (d) otherwise

38. Can you tell me when leaving?
(a) does the plane (b) is the plane (c) the plane is going to (d) the plane is

39. The girl mother was ill was crying.
(a) which (b) of which (c) whose (d) of whom

40. You can meet me you like.
(a) soon (b) always (c) whatever (d) whenever
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